SUMMER HOLIDAY HOMEWORK (2025-26)
MATHS (LEVEL-2)

1% w3 WG ( ADDITION AND SUBTRACTION)
Q1 IFad:  Solve:

1. 56+89="7 6. 54 -29=7
2. 77+88 =7 7. 89-0="7
3. 203+876="7 8. 63-38=7
4, 999+101="7 9. 345-123="7
5. 7,540 + 2,468 = ? 10. 672 -458 =7

Q2 & g 33: Fillin the blanks:

a. 345+ =700 e. -6 =10
b. ____ +1250 =3000 f.22-_ =13
c. 560+ ____ =1000 9. -245 =672
d. 8732+ ____ =9500 h. 956- =53

Q3 ¥l giet 33 3 7 I F3'9, IBH W3 feagds (f3987) T AF 15 I=

Fill in the blanks so that each row, column and diagonal adds up to 15.

2

Q4 I3F + IBH &I § 1F A I (N[F) Y™ &3 W3 foHBH3 ye' © €39 el

Complete the grid by adding row + column numbers and answer following questions.

+ 10 | 25 | 40 | TOTAL

15 25 | ? ? ?

30 ? ? |70 ?

50 ?2 75| ? ?

TOTAL

1) 25 + 30 T HF &t I? What is the sum of 25 + 30?
2) A1fds &9 yr&t @=t 331 Find the missing values in the grid.
3) III/ABH T d% 1 aJ| Calculate the row/column totals.




Q5 I i3 Hftmire' € deds § AHS 3 vdl mef 33
Fill in the blanks by understanding the following pattern of numbers:
1. 12, 17, 22 , ... y e
2. 7, 14, 21, ....... e
3. 12, 24, 36 , ......... s eeeeeens .
4. 100, 200, 300, 400, 500, ......... Y eeeeeens
Q6. St f&g @ Hftwrat € AF 189 fagt T A7 95 I= |

In the boxes, write two such number whose sum is 95.

| 85+10]

] O

[ [\/ 95 | 55+40 |

Q7. fonr & 85 37 31,250 & w3 ffd g3t T #37 1899 T K 8RS I% fdar vag i3
Riya bought a dress for 1,250 and a pair of shoes for ¥899. How much did she spend in total?
Q8. fig IBJIFT UfaB fes 1,450 faBried w3 ©x fos 1,875 fadied g8t J1 Isdidt & 98 fddt
Tt 3w i

A train travels 1,450 km on first day and 1,875 km on second day. What is the total distance
covered by train?

If a jigsaw puzzle has 250 pieces and another has 375 pieces, how many
pieces are there in total?

Q10. B fyae gaae &9, I A & 35 At €9 325, 278, w3 410 I6 S8 €' T IB A
fdaT 32 In a cricket tournament, Team A scored 325, 278, and 410 runs in three matches.
What is their total score?

Q11. IH 3B 15 € I&| GRS 7 I 31 €7 35 g= &S =52 597
Raj had 15 marbles. He lost 7. How many marbles does he have left?
Q12. 1000 Y3 I B 745 &9 fdar Haa” grdter I?
How much should be added to 745 to get 1000?
Q13. ffa faA™s & 1,200 fa8q[H = T GRS 850 fSBIH Iex 29 31 ge fd& g=a grait
Ifg Jrer?
A farmer harvested 1,200 kg wheat. He sold 850 kg. How much wheat is left?




Q14. ffg g &7 5,000 fazmat Hil MHE'T § 1,250 W3 HIBE'T & 2,300 T | &M frzra
g IB?

A shop had 5,000 books. 1,250 were sold on Monday and 2,300 on Tuesday. How many books
left?

Q15. i arg 452 fadicg A=I w3 368 faBrited HH & T8 J1 9 & I fdS Tt 3w 5t

A car travels 452 km in the morning and 368 km in the evening. What is the total distance
covered by car?

Q16. ffa T & i i g8 B 3 riieg U & 87 It I w3 ffa de =g a8 4 Hiea
R & 37 I I 2 T w3 i de o g9a 38 3T U & 9% SIE U3 a3

A tailor requires 3 metres of cloth to make a shirt and 4 metres of cloth to make a pant. Find the
total length of cloth required to stitch 2 shirts and one pant.

JdIeT (Multiplication)

Q 1: e It Aftmir § 279 T3 HFS © 3919 § AHE W3 I8 3|

Understand the addition of a number again and again and solve it.
1)  T7H7+7+7+7+7 = 7 X6 = 42
2) 15+15+15 = ............... T
3) 1I+1+41+1+1+1+1+1+1+1+14+14140+40 = =
4)  23+23+23+23+23 = ............. s

5 11+11+11+11+11+11+2121+11+11+11+411+12 =.......... S

Q 2 : "ftpr 3y 3 E9AE:  Show on number line:

) 3X4-=

0 1 2 3 4 5 6 T 8 9 10 11 12 13 14 15 16 17 18 19 20

0 1 2 3 4 5 6 T 8 9 10 11 12 13 14 15 16 17 18 19 20

Q3 :JE a9 Multiply:

17 X9 = 11X6= 15X9=
13 X5= 14 X9 = 17 X8 =

17 X7 = 13X 8= 19 X3 =




Q 4 : gre” gad § 931 Fill the multiplicative circle.

Q 5 : 3re" 31 Multiply.

17 X10 = 11X100-= 15 X10=
13 X 1000 = 14 X 1000 = 5X10=
27 X10 = 13 X 100 = 19 X 1000 =

Q 6 : I 31 Multiply.

1) 45 x 43
2) 89 x 56
3) 56x38

4) 87x61

Q7 : JIIIHM B gl ST IRIg © Wa A<t HAt 8 © H3 W3 HH ©f i gt w3

i 3™ S e e I Il IR © fUsT /it & 7ra Sfowr &

15 JUL TH gS<r Hate o &3t SR IH<g © fu3T & fdor Hag - 4“‘
During the summer vacation, two of his aunt's sons and a girl and a boy e ™~

from his maternal uncle's house have come to spend the vacation. - Z‘ _\_

Rajvir's father bought kulfi worth 15 rupees for all the children. Tell
me how much did Rajvir's father spend?

Q8 : IT& IS 50 UL T 8 & Ia| TH BF I8 IS fdah It I?

Bhavna has 8 notes of ¥50. How much does she have in total?

Q9 : B 7w €T 6 TBHIH TG, W3 IS IBHH g 25 RfeIs=t Ial €1 AgS <9
3% fd& fefenrast I6?

There are 6 classrooms, and each classroom has 25 students. How many students are
there in total?




Q 10 : H&E © W3 S8 gradiedl gt 34t J1 grasiet °f g
sHle &g 13 et s I, w3 Gua 39 windn 8 Brale’ g
g I51 HaeY fost fiet S farest age ord<t J1 st 3H fog
=3t €A Aae J7

A boundary wall is being built in Mandeep's courtyard. In one

row of the wall, there are 13 bricks, and 8 such rows have been completed so far.
Mandeep wants to count the total number of bricks. Can you help calculate this
number?

7T (Division)
Q1.J% &J Solve:
1) 18+3=__ 6) 36+6=__
2) 30+5=___ 7) 10+2=__
3) 24=4=__ 8) 49+7=__
4) 15+3=__ 9 21+3=__
5) 40+8=__ 10)27+9=__

Q2. 91T Jad YI' 5J| Complete the division circle:




Q4. I% I Solve:
1) 728958 391 5I?

Divide 72 by 9?
2) A9d A1 48 $ 6 &' II1 AIE I, 3T IIES off I

If you divide 48 by 6, what is the quotient?
3) 3HI 56 3 8 © S AT T Hae I?

How many groups of 8 can you make from 56?
4) 96 & 12 &8 I1 |

Divide 96 by 12.
5) 100 $ 20 &8 91 IIS T B3 off I

What is the result of 100 divided by 20?

Q5. 1208538 91 I W3 FIES W3 Trell YT FJ|
Divide 120 by 5 and find the quotient and the remainder.

Q6. Ur A3 g IAcde Ko e I8 f&s 2 555 Al Gao' § &% & fon 3d1a o8 S5 grdier
J 37 BI&" ST I3 § IIr5g I T U=?

Five friends went to a restaurant. The total bill was X 555. In what way they should split the
bill so that each of them has to pay an equal amount?

Q7. f8 I@H T AHIE 300 .. J1 6 Bteg urel T 938 &9 JS IBH I 7 AdE IS?

The capacity of a glass is 300 ml. How many such glasses can be filled from 6 litres bottle of
water?

Q8. 18 AT Il He I § 3 udct &9 feenfys daer J1 g9 ude K9 fdd A I5?
There are 18 apples. Jon arranges them in 3 plates. How many apples are there in each plate.

Q9. 9 It WifiEAg Aoy 3 & Ae B8 8 W2 T X darer I, A Mifi{zrAg Afag w3 i
fegarg Tt 496 faBHicd I= 37 g & T8 U3 JI?

It takes 8 hours to travel from Amritsar Sahib to Delhi by car. If the distance between Amritsar Sahib
and Delhi is 496 km, then find the speed of the car?

Q 10. A3 A8 30 AFSIT I&| BT fegst § 10 Sfonr (€9 gagg <3 grdel J1 IS 9 § &S
Afdag Hee I&?

Jenny has 30 stickers. She wants to distribute these equally among 10 children. How many stickers
does each child get?




Project work

1. W3 T HJlG=T HIT™ - #F w3 wg & =93 F94l
faQ aga™ 3
o WE HH U 3 wg T IA T o i andt ‘3 fsd w3 §Rd A3
. WIS MIT R UI HIT F AT
o T T HIIS T TS RY GAG W ‘d HIlS & 593 U™ 33

“Monthly Household Expenses” - Using Addition and Subtraction.

How to do:
* Write down your daily household expenses from your mom or dad on a copy and add them

* Add the total expenses at the end of the month
* Find the monthly savings by subtracting it from the monthly household income.

2. “IIfE3 T FA'T” —JIe" w3 I91 Halee! &9 a2 =93 A Ia
fa? aga™ 3
o it 3 ¥ &aF HIelle g2 A Ide "6
o 5T T fBHC FTC (H2: U, farsce, a8, wg, and)|
o IIX TAZ T SAH3 B
o fog gr&r I B8 1 "R 1B G T I, 3T 6 Wit T AHI?" — 8 x 6 = 248
o faI ST I B fa: "A 96 © 12 Wg W8 I, 3T 1w & W3 -

“Math Market” = How multiplication and division are used in shopping.

How to do:
* Create a mock market or chart on paper.

» Make a list of 5 items (eg: milk, biscuits, toys, potatoes, coffee).

* Write the price of each item.

* Then write through multiplication: "If 1 potato costs I8, then what is the cost of 6
potatoes?" — 8 x 6 =348

* Then write through division: "If 12 potatoes cost 96, then what is the cost of 1 potato?" —




